
Sada př́ıklad̊u 1/3

Limity funkćı I

1. Dokažte z definice, že

a) lim
x→1

(x

2

)3

=
1

8
b) lim

x→1+
[x] = 1 c) lim

x→1−
[x] = 0

Spočtěte

2. (a) lim
x→0

x2 − 1

2x2 − x − 1
(b) lim

x→1

x2 − 1

2x2 − x − 1

3. lim
x→2

( 1

x2 − 2x
−

x

x2 − 4

)

4. lim
x→0

(1 + x)(1 + 2x) . . . (1 + nx) − 1

x
, n ∈ N

5. lim
x→1

x100 − 2x + 1

x50 − 2x + 1

6. lim
x→0

(1 + mx)n − (1 + nx)m

x2
, m,n ∈ N

7. lim
x→1

xn+1 − (n + 1)x + n

(x − 1)2
, n ∈ N

8. lim
x→1

x + x2 + . . . xn − n

x − 1
, n ∈ N

9. lim
x→1

( m

1 − xm

−
n

1 − xn

)

, m,n ∈ N

10. lim
x→0

2

x
2 + 1

√

3

x
4 −

6

x
2 + 5

11. lim
x→0+

(
√

1

x
2 + 1 −

√

1

x
2 − 1)

x

12. lim
x→0+

(

√

√

√

√

√

1

x
+

√

√

√

√

1

x
+

√

1

x
−

√

√

√

√

√

1

x
−

√

√

√

√

1

x
+

√

1

x

)

1



13. (a) lim
x→16

4
√

x − 2
√

x − 4
(b) lim

x→0

√
x + 1 − 1

x

14. lim
x→0

√
1 − 2x − x2 − (1 − x)

x

15. lim
x→0

3
√

27 + x − 3
√

27 − x

x + 2
3
√

x4

16. lim
x→0

m

√
1 + x − n

√
1 + x

x
, m,n ∈ N

17. lim
x→0

√
1 + x − 3

√
1 − x

3
√

1 + x −
√

1 − x

18. lim
x→a

+

√
x −

√
a +

√
x − a

√
x2 − a2

, a ∈ R
+

0

19. lim
x→0

m

√
1 + ax

n

√
1 + bx − 1

x
, m,n ∈ N, a, b ∈ R
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Sada př́ıklad̊u 1/4

Limity funkćı II

Základńı limity

lim
x→0

sin x

x
= 1 lim

x→0

ex − 1

x
= 1 lim

x→0

ln(1 + x)

x
= 1

Pro výpočet limit typu “1∞”:

lim
x→a

(f(x))g(x) = elimx→a g(x) ln(f(x)) .

Př́ıklady

1. lim
x→a

tgx − tg a

x − a
, a ∈ R

2. lim
x→0

√
1 − cos x2

1 − cos x

3. lim
x→0

tgx − sin x

x3

4. lim
x→0

1 − cos x cos 2x cos 3x

1 − cos x

5. lim
x→π

sin nx

sin mx
, n, m ∈ N

6. lim
x→1

sin πx

1 − x

7. lim
x→π

4

tg (2x)tg
(π

4
− x

)

8. lim
x→0

sin(a + 2x) − 2 sin(a + x) + sin a

x2
, a ∈ R

9. lim
x→0

cotg (a + 2x) − 2cotg (a + x) + cotg a

x2
, sin a 6= 0

10. lim
x→0+

arccos(1 − x)√
x

11. lim
x→0+

(

π
2
− arcsin 1√

x2+1

)

x



12. lim
x→0

ln cos ax

ln cos bx
, a, b ∈ R, b 6= 0

13. lim
x→0

ln(a + x) + ln(a − x) − 2 ln a

x2
, a > 0

14. lim
x→0

ln(tg (π
4

+ ax))

sin bx
, a, b ∈ R, b 6= 0

15. lim
x→0+

ln(x ln a) ln
( ln ax

ln x
a

)

, a > 0

16. lim
x→0

ln(1 + xex)

ln(x +
√

1 + x2)

17. lim
x→1

(1 − x)logx2

18. lim
x→0+

(1 + x)
1

x

19. lim
x→π

2

(sin x)tg x

20. lim
x→0

( 1 + tgx

1 + sin x

)
1

sin3
x

21. lim
x→1

(1 + sin πx)cotg πx

22. lim
x→0+

(cos
√

x)
1

x

23. lim
x→0

(1 + x2)cotg πx

24. lim
x→π

4

(tgx)tg 2x

25. lim
x→1

sin πxα

sin πxβ
, α, β ∈ R, β 6= 0

26. lim
x→0

eαx − eβx

sin αx − sin βx
, α, β ∈ R, α 6= β

27. lim
x→a

ax − xa

x − a
, a ∈ R

+

28. lim
x→0

(1 + x2x

1 + x3x

)
1

x
2

29. lim
x→0

(ax2

+ bx2

ax + bx

)
1

x , a, b ∈ R
+










